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1 Whatdoes the term ‘permanent pasture’ mean? (1 mark)

2  Statetwo benefits of including Meadow Fescue in a grass seed mixture. (2 marks)

3 Afarmeris planning a fertiliser regime for a grass ley.
a) State five factors that the farmer would need to take into account. (5 marks)

b)  Foreach factor stated in 3a), explain why the farmer should take them
into account. (5 marks)
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4 State two reasons why Nitrogen is important for grass crops. (2 marks)

5  Give three reasons why the grass shown in Figure 1 affects the productivity
of the sward. (3 marks)

http://cropscience.bayer.co.uk

Figure 1
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6  Explainthree ways that the time of cutting grass will affect grass silage. (3 marks)
7 Explainthree ways of promoting Lactobacillus bacteria in clamped grass silage. (3 marks)
8  Listfour causes of an ATV turning over whilstin use. (4 marks)
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9 a) Namethefour stages of the 4 stroke cycle for a diesel engine. (4 marks)

b) Describe the four stages of the 4 stroke cycle for a diesel engine. (8 marks)
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10 a) Statetwo advantages of a torque converter compared to manual transmission. (2 marks)

b) Name the three major parts of a torque converter. (3 marks)
11 Whatis the correct tyre pressure for an ATV being used on rough terrain? (1 mark)
12 Explain one advantage and one disadvantage of having a differential on an ATV. (2 marks)
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13 Alivestock farmer wishes to increase his productivity and efficiency in one grass field,
which is used for grazing and silage.

Another second steep grass field on the farm has become unproductive. The farmer
wishes to improve this without a complete re-seed. The farm also owns an ATV which
isunder used.

Discuss methods that could be used to increase the production of the fields.
Give examples of where the ATV could be utilised, the risks that may be involved
and how to overcome them. (12 marks)

b 7 End of examination ol



